
Stitch of the Week 

Pattern #206 

Two Stitch Chevron Ripple 

Stitch Pattern 

Make a chain with a multiple of 15 + 1. 

NOTE:  A foundation chain of at least 31 

is necessary to work a sample swatch. 

Row 1:  (Right side):  Dc in 3rd ch from 

hook, dc in each of next 5 ch, * (dc, ch 2, 

dc) in next ch, dc in each of next 6 ch, skip

next 2 ch, dc in each of next 6 ch *, rep from 

* to * across to last 8 ch, (dc, ch 2, dc) in

next ch, dc in each of next 5 ch, (dc2tog) in 

last 2 ch, [to work dc2tog: (yo, draw up lp in 

next st, yo, draw through 2 lps on hook) 

twice; yo and draw through all 3 lps on 

hook- dc2tog made].  Ch 1, turn. 

Row 2:  Skip first st, sc in each of next 6 dc, 

* (sc, ch 2, sc) in next ch-2 sp, sc in each of

next 6 dc, skip next 2 dc, sc in each of next 6 

dc *, rep from * to * across to last ch-2 sp, 

(sc, ch 2, sc) in last ch-2 sp, sc in each of 

next 5 dc, (sc2tog) in last 2 dc [to work 

sc2tog:  (yo, draw up lp in next st) twice; yo 

and draw through all 3 lps on hook – sc2tog-

made], ch 3, turn.  Leaving beg turning 2 chs 

unworked. 

Row 3:  Skip first st, dc in each of next 6 sc, 

*(dc, ch 2, dc) in next ch-2 sp, dc in each of 

next 6 sc, skip next 2 sc, dc in each of next 6 

sc *,  rep from * to * across to last ch-2 sp, 

(dc, ch 2, dc) in last ch-2 sp, dc in each of 

next 5 sc, (dc2tog) in last 2 sc, ch 1, turn.  

Leaving beg turning 1 ch unworked. 

Repeat Rows 2 & 3 for pattern. 


